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. 1 This paper has Three sections,

General Knowledgeof.M'P : Q.No.Ol to 50,
General Mathematics : Q. No. 51 to 75 and .
General Hindi :Q. No. 76 to 100. ,
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4 If any discrepancy isfound in 'the Question bo()lde~.the- same' can be
replaced with anotherc~rrect question .bookletwithb.lfir~t .15 minutes. '

5 Before answering the queStionsplease read caref\lllythtinSfructions printed
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1'· .Nepanagar •ii~ r~ted·· with which .1Industry of Madhya Pradesh ?

(A) Cotton Textile (B) Sugar

(C) Newspaper (D) Jute

(A) ~.~ (B) ~

. (C) t'I"IltU{ tBr

2 Which is the only district of M.-~dhyc:lPradesh where 'Opium Agriculture'
occurs? . ~....... , , ..\ r:..dN·-·

(A) Khandwa (B) Mandsaur
\.

'(C)' Rewa (D) Chhindwara

.~.t
~(A) ~ (B)

(C) iTcrr (D) ~~ql{l

..> .When did the Employment Guarantee Programme start in Madhy~ ,J>,r;adesh?

(A) January, 2005 (B) February, 2006

(C) March, 2007· . (D) September, 2008

(A) ~,2005 (B) ~, 2006

{C) lWCf, 2007

. AYRES-21i3-B_Al

(D) flldl'Elr, 2008·
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(C) ~

./ 4 Which of the following is the first the~Lpower stf,tion,.of
Madhya Pradesh ?

(A) Chandni (B) Amarkantak

(C) Satpura (D) Vindhyachal

(A) .~

(A) . Betwa (B) Thawar

(C) Peneh (D) Banganga

(A) ~ (B) ~

(C) ~

6 Where ifi Madhya Pradesh is the Nation8.J. SoyabeaHR.~eareh Centre
Ideated?;: )!!!ip" 'lC'..'

•• (A) Shahdol '(B) Shajapur.

(C) . Indore J(D) Sheopur

(A)~~ (B) ~~

(D) ~~(C) ~

AY~S-2113-B_A] 5 .. ~



J7 Wherein ¥adhya'Pradesh is irrigation -done mostly by tanks ?
I

.(A) Tikamgarh andChhatarpur (B). Balaghat and Sivni

(C) Raisen' and Mandla (D) Chhindwara and Betul

. (C) ~ ~ ..~

BJ Which is the mostifrigatedirldistrict.ofMadhya Pradesh?":H'

(A) Gwalior (B) . Chhindwara

(C) Jabalpur (D) Hoshangabad

9 Which of the following regions of MadhyaPradesh is knowp. ~s Rice and .
~ Cotton regions ?

(A) Khandwa (B) Shivpuri

(C) Gwalior (D) Shajapur

(A) ~ (B) ~~

6



!whichriver? ...
.\

. (C) Narmada (0) Shipra

(A) Sindh (B) Ken

(A) ft:t~

(C) ~.

(B) ~

(0) . ftnn

~}

(A) Bhind (B) Ratlam·

(C) Mahu (0) Ujjain

(A) m .(») ~'.

(C) ~ (0) ~

12 The confluence 'of which two rivers in .Madhya Pradesh~s known
as: Ptanhita/ i?,;iV<jrilL) f;',: ;';U -.""

(A) Venganga -Wardha (B) Kuwari -\vardha

.(C) Kunu- Parvati (0) Tawa- Sbipra
:,-': , ' ',' .' ',' ,,_,: ,-';,' , , i:.jJ~~;_:.;.':'f·",t . .

lJW R~T -q PiktRitRsia -q -« ~ 1lT ~ CfiT Wlq .•\joilldl $ '"Wi -« '\ifRT

ifflOT t ?

(A) ~ -' Cftli

(C)fl -,.~

(8) ~ -.~

"(0) acrr - ftnn ','am'l.:>,:,,'.,.,

AYREs.2/13-B":'A]



,. Whicbof th~~:wing reserves is famous for the Conservation of Doodhraj
(Paradise Flyca!cher) which is the State Bird of Madhya Pradesh ?

(A) Bori reserve (B) Sardarpur reserve

(C) Singhori reserve
.

(D) Panpatha reserve

~,"'1Iitf&d ~ -« ~ "«f ~ ~ ~~ ~ 'rt~Tem (l'ilc€t~ ~~
t,t~t~~t?

(A) ~ ~~'

(C) fttmtr ~ ~

Which of the following trees is predominantly found" in
Madhya Pradesh ?
(A) Tendu (B) Bamboo

(C) Sal ,(D) Teak

(A) ~' (B) ~

(D) 'iTcf;' ,(C) trnr

15 Most of the black soil in Madhya Pradesh is found in :

(A) Malwa (B) Bundelkhand

(C) Baghelkhand (D) Nimar

(A) lffi'CfT

(D) ~

8 [Contd .•.



J

16 Which NatiortalParkof Madl).yaPra,4e$h h~ the maximum number
J of tigers?

(A) Kanha - Kisli National Park

(c) Pench National Park
. .

(0) Sanjay National Park

(A) ~ ~ ~. \mR'

.In Madhya Pradesh, tWg· 'rivers originate within an area· of 2 kilometers.

Which is thai place ?

(A) Amarkantak (B) Datia

(C) Umaria (0) Balaghat

~~~T .il ~ ~l ~ i" ~ it ~ 16T ~ iT .Fc6\if141·a< 10 ~

10 ~. ~i"1 ~ ~ m ·WR~i"?

(B) ~

(C) i3BfhU

AV,RES-2/13-B_A)

(D) GlI",ene:
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Y~::naof:f~~tegioM<of~<l'Qde.llare .the rocks of

(A) Satpura region (B) BagheIkh8ndregion >

(C) Rewa •.Panna'region . '(0) Both (A) and (B)

~tl6C1I.,t.~ ,.ciftltt~·>~ ~".J; Pt¥l1J~~d.q -e- .. ~ P.~~
~ t?
(A) ~

(C) "ficn-- lFIl' (0) . (A) ~(B) lJ);fl'

i Ahilyabai was the queen of :

(A) Gwalior

(C) Jaipur

~fi(Wql\§fll ~ cir ~,tW ?

(A) ¥CCI~COI<

(B) Malwa

(0) Bijapur

(C). ~

(B) '~

(D) !6l\JIt1(
•• -.1
;f._,;r-

20. Who was the first Chief Minister of. Madhya Pradesh,~:,

(A) Pandit Ravi Shankar Shukla

(B) Dwarika Prasad Misra

(C) BhagwantRao

(0) None of these. r " ~ ,
1- I

•• -. ,J ~
•...f'-'t

(A) ~ ~~m~'
(B). mfu6T ~ fulJIT

I

,

~~T:>i\.-~' , ." .

(C) ~."OCf

(D) ~ 'it -e- q;)f ~, ,-«,"" "

'. 'i\ ICo.ntd ••.



11 .. [C~nid...·

The Narmada River which .originates .inMadhya Pradesh terminates in?

(A) Gulf of Khambat (B) Arabian Sea

(e)· Bay of Bengal ,.: (0) None of the above

(A) ~ cCr.~

(e) .. ~"m1ft1Rif .

~ On which river is the eha~hai waterfall found ?

(A) Betwa (B) Bihad

(e) Narmada (D) Tapti

~ ~ WfRf fctffi .~ -q-{ t ?-
~n-,,-r

(A) mr (B) ~

(e) . ~ (D) ~

\
yen did the Bundela uprising occur in Madhya Pradesh t

(A) 1840 . (B) 1843 .

(e) 1845 (D) 1850

(A) .1840, (B) 1843

(e) 1845 (D) 1850



24 Which Fort of Madhya Pradesh is also known as the Gibralter of India?

(A) Orchha Fort (B) Narwar Fort

(C) Gwalior Fort· (D) Chanderi Fort

(A). ~ ~

(C) T~ 1tm

25 The rulers of which dynasty made Orchha, the Capital. of Bundelkhand ?

(A) Baghel rulers (B) Kalchuri rulers

(C) Bundela rulers CD) Parmar rulers

26 King Chhatrasal was the ruler of which of the following -regions of
.Madhya Pradesh?

(A) Baghelkhand .(B) Raipur

(C) Bundelkhand (D) Jabalpur

(B) ~

12 {Contd.,'
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27 Where was Tatya Tope banged ?

(A) Shivpuri (B) Indore

(C) Bhopal (D) Sambalpur.

(A)' ~~ (B) ~.

(C) ~.'

28 Who led the IndoreArffiy in die Revolt of 1857 ? .

. (A) Narayan Singh (B). ,Devi Singh .

(C) Surendra Sai ' (D) Sadat ,Khan

(A) ..,rUqul fm (B) tcft ~

(C) ~ m( (D) ~ mo;

,J' , .

'The rulers of which dynasty made Khajuraho their Capital?

(A) Bundela (B) Haihay

(C) Kalchuri (D) Chandela,

(A) ~

(C) CfitM!fl

AYRES-211J;i.B_A] 13 [ Contd ...



30 What ,is the payable amount in the'Gaon Ki Beti' Yojana of
Madhya Pradesh?

(A) Rs. 300 (B) 'Rs. 500

(C) Rs. 900 (D) Rs. 1,100

(A) 300 m (B) 500 m
, ,

(C) 900 m (D) 1,100 m

J 31 With which of the following is the Jivandhara Scheme related ?

(A) Wells (B) Canals

(C) Tanks' (D) River Irrigation Projects

(A) ~

(C) VJi

(B) ~

I
I 32

j
The "death of 'which of the following music composers took place due to
.the singing of 'Deep~ Rag' ?

(A) Tansen (B) Amir Khan

(C), Kumar Gandharva~ ~. CD) Alauddin Khan

~,wr q;) 'flR ~ ~F1Rttftga ,.q' ~ fctR1 ~ ~ cit ~, m-
~~? -

I

(A) ~

(C) ~ ~~ •

, AYRES-2/13-B _AI

(B) ~'~

(D) ~(itII3~H19A'
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(A) !§iOfl~~<a

(C) Pc4t6iOflf&~

(B) (11A~<a

(D) ~ \

.33 In the Court. of which ruler. was Kalidasa, 'one of the nine gems' ?

(A) Kumaragupta (B) Samudragupta

(C) Vikramaditya : '(D) Harsliavardhana

'fcfffi "U1fT ~ ~. '~C6IW\·~((1;:fr ~ ..~ ~ ~ ~?

(A) ~04(f\@U~

(C) ~ (D) -.ft1R

35 Which'of the following is the oldest Medical College of Madhya Pradesh 7

(A) GajrajeMedical College (Gwalior)

, (B) Mahatma Gandhi Memorial Medical College (Indore)

(C) Administrative Medical College (Jabalpur)

(D) S. N. Medical College (Rewa)

PtkjRotftsra ~ -«. ~rt~T q;1 cCA m ~ ~ ·R:t1¥~4·Ji~lfct~I(f\4 ~ ?

,

(A) J(\i1~11l\ R:tPrb&14 lOj~IPc4~1(f\4(J~(f\Yt4~)

(B) ~. ~ ~ R:tPcb~4 lOj~IPc4~lcl4(~)

(C) '1l~"(1PtCf) R:tf$~tj lOji?IPc1Qlcl4(\i1af(f\:!~)

(D) ~. ~. R:tPrbafttt. ~~IPc1@Hi.Tt4(OO)'

15 [Contd ...



36 Where is the mausoleum of Tansen,: the .great musician in. the Court of
Akbar the Great, located ?

(A) Ujjain (B) Maihar

(C) Rawatpura (D) Gwalior

(A) ~ (B) ~

. 3~ In Madhya' Pradesh, the evidence of Sati System is found in the Era?
inscription. To whom' 'does this inscription belong ?

(A) Buddhagupta (B) Ramagupta

(C) Bhanugupta (D) Goparaj

, ll~ ~~T it mfr ~ ·cor }111M' o/A~ ~~ itt ,,~ ..~~ ~
~T'RfCi) q)f ~ II

(C) ~,

38 Who built the famous Gopal Temple of Ujjain ?

(A) Girbahadur Nagar (B) Bayja Bai

{C)' Narahari Shah (D) Chhatrasal

(A) <ftt ~ ~

(C) ~ ~m'

(B) ~.~

AYRES-2/13-B~A] 16 f Contd ••.
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39 Where. is the hermitage of Saint Sandipani "located ?

(A) Ujjain (B). Jabalpur

(C) Satna (D) Dewas

(A) ~

(C) ~ .(D) ~

40 Where is the largest Stupa of India located ?,

(A) Sarnath (B) Sanchi

(C) Vaishali· (D) Areraj

(A) ~'l (B) ~.

(D) ~

41 In which district of Madhya Pradesh .are the Bhitnbetka Caves located ?

(A) Rajgarh (B) Raisen

(C) Sehore . (D) Mandsaur

(A) ~ . (B) -u$

(C) m
AYRESll/l3-B_A 1
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Which temple of Madhya Pradesh is built in South Indian Style ?

(A)· Saas-Bahu Temple (B) Teli Ka Mandir

(C) Navagraha Temple (D) .Gopal Temple

(C) ~~

.ch of the.. followingpairs is not corr~.?

Pawagiri : Khargaun (B) Udalgm: Shahdol
. .

(C) Amarkantak: Shahdol (D) Bhartrihari Cave. Dhar

44 Where is the temple of Mahakaleshwar located ?

.(A) Ujjain . (B) Dhar

(C) Vidisha .(D) Sidhi

(A) ~ (B) ~

(C) ~ (D) ~
,

AYRES-2/13-B_A) • 18 . [Contd •..



(A) Sakkar River (B) Tawa River

"'

. ~5 ()n which-river is the Chachai waterfall located ?

(C) BetwaRiver . .(0) Bihar River

(A) ~~

(C) ~.~

46 . Where is the Jai Vilas Palace located? .

(A) Sivni (B) Katni

(C) Satna (0) Gwalior

(A) ft:rq.ft (B) ~

(C) ~ (0) ~cllRYttt<

47 Which. of the following forts was built by Alauddin KmIji ?

(A) Mandsaur (B) Ginaurgarh

(C) Narwar (0) Mandla

"
(A) ~ (B) fll.,4,<~I~.

(C) (0) '"~ ~
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48 Who built the famous Chanderi Fort.of Madhya .Pradesh ?

~9

(A) Kirtipal (B) Ajaipal :

(C) Surajsen (D) Uday Varman

!n which district of Madhya Pradesh is the. ancient temple of
Bhainsadevi located?

, ,.

(A) Mandu . (B) Chanderi

(C) Betul (D) Raisen

(A) ~

(C) .~.

(B) ~

(D) ~

50 The original name of which musician w~ Ramtanu ?

(A) Tansen (B) Krishnarao Pandit

(C) Shankar RaoPandit (D) Kumar Gandharva

(A) ~

(C) ~iCfj{{ICl ~
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15 . 13
(A)

19
(B) 16

17 7
(C) (D) -

21 8

~1llfetA~~~~i ?

15 13·
(A) 19

(B)
16

17
(C) 21

7
(D) 8

If a=O.25,b=-O.05 and c=O.5, then the. value of

2
(A) "3

1 .
(B) 2

(C) 0 (D) -0.2

• t

2
(A) "3 (B) .!

2

(C) 0 (D) -0.2
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(B) 67.5%

53 The boys arid girls in a college are in, the ratio 3:2., If 20010 Of the boys

and 25% of the girls are adul;s, then what is 'the percentage of students

who are not adults?

(A) 58%

(C) 82.5% (D) 78%

1fc6 ~ ~ ~ ,'ffm'" (iWPcb~'f "q;t • 3 : 2 i 'I ~ 20% ~ "fftn

25%W?Prfitii ~~, -aT ~ ~ q;y mam ~ t, ?

.(A) 58% (B) 67.5%

(C) 82.5% (D) 78%

? 405 sweets were distributed equally among children in such a waYlhal

the number of sweets received by each child is 20% of the total number

of children, How many sweets did each child receive?

(A) 9 ,(B) 15

(C) 18 (D) 45'

r
405fl:t61~qi ~ ~ ~ lfWf\' ~ ~, ~~dnd ~ ~ fcs ~

~ q;). ~ qR'ft, fl:t61~4\''c6T ~ ~ ~ rtt ~ q;y 20%·tfi I ~

~ q;f ~ fl:I61~q'f~ M ?

,(A) 9 (B) 15

(C) 18' (DJ 45

( Coetd ••.



55, The population ,:bfa't6wn'2yearsago was 62,500. Due to migration to

big cities, it decreases every year at the rate of 4%. the present population
" -;},;':. ·'-r: '. ' • '

of the town is :
(A) 56,700 " (13), 57,600

(C) 58,800 (P) 60,000

2 ~ 1{Cf ~ ~ ctt ll1·n:i@H 62,500 ~ 1 ~ Cf»' 8l~C6( ~m"Il1R

qrffi ~'~, ~4%~ '-tr u '~.d "ilfffit tl ~. -tr~,
1l11~&:I1 t :

(A) 56)90-, ,(B) 57,600

(C) 58,8()O'P,' (D) 60,000

56 A man invests a certain sum of money at 6% p.a. simple interest and another

sum at 7% p.a. simple interest. His income from interest ,after

2 years was Rs. 354. If one-fourth of the first sum is equal to one-fifth

of the second sum, then the total sum invested was :

(A) Rs.2i6;DQ

(C) . Rs. 2,700 (D) Rs. 2,900'

~ ~ ;f ~ ~ m~ ~ ctr ,6% ~ U tR am .~ ~ 7%
.; -

~ U tR· ~ ~. 'I 2~' ~ ~. ~ ~ 354~.·~ 1~ .~

q-.:r q;T 1fc6-~~i ~ ~% ~ ·cqrrr % ~~;ffi;;~ ~ Tj(:ff

~~t :

(A) 2,600 'Q. (B) 2,880 'Q:

(C) 2,700 'Q. (D) 2,900 'Q.
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(A) . 7% (B) 9010

r 9.!.% .(D) 1(C) 10-%
4 ·2

57 A man lends Rs. 10,000 in four parts. If he gets. 8% p.a. simple interest.

on Rs. 2,000; '7~% p.a. simple interest on Rs.· 4,000 and 8 ~% p.a. simple

interest on Rs, 1,400; what percent p.a. of simple interest must he get for
the remainder, so that his average annual rate of interest is 8.13% ?

. AYRES-2/13-B_A] 27 [ Contd ...

;

~'~ 10,000 Q. q;) 'f.IT\ 'rfT1iT it \5tU'{ .~ t I .~ ~ 2,000 Q. 'crt

8%~, 4,000 Q~ "If{ 7t~Io.~"ff~ 1,400Q. "If{ 8}% ~~ ..

~'~, aT ~~ "If{ ~ ~ ~'Rt ~ &Ql\lf flffi f$ ~ ~
~ c6T G:\ 8.13% ~ ~ ?

(A) 7% (B) 9%

(C) 91%
4

(D) 1
10-%

2

58. A sum of money placed at compound interest becomes double after 5 years.
It. 'will become 8 times itself at the same rate of interest in :

(A) 17 years (B) 18 years

(C) 15 years (Dj 20 years

r ~. ~:en6?fR4 ~ -e- 5 Cflfit .~ ~ ~'l I ~ .cir ~ G:\ ~

~'m~ 8'TfT~~

(A) 17 CT1f it (B) 18 Cflf it

(C) 15 Cflf it (D) 20 Cflf' it



59 A sum of money invested at compound interest becomes Rs. 4,624 in

4 years and Rs. 4,913 in 3 years."The sum"of money is :

(A) Rs. 4,096 (0) Rs. 4,260"

(C) Rs. 4,335 (0) Rs. 4,360

~ Wl" QrbCIR<1 ~ -« 2·q1f Ti 4,624"6". o~ 3 q1f Ti 4,913 (;. &T \jfffiT

-l I~" ~t :

(A) 4,096 (;. (B) 4,260 (;.

(C) 4,335"6". (0) 4,360 Q.

60 The percentage profit earned by selling an article for Rs. 1,920 is equal

to the percentage loss incurred by selling the"same article for Rs. 1,280.

At what price should the article be sold to make 25% profit ? '

(A) Rs. 2,000 (B)"" Rs. 2,200

(C) Rs.2,400 (0) Rs. 2,500 .

~ ~ q;) 1,.920~. Ti ~ -« ~ma~Tff \1f('l ~ t, ~ ma~Tff

m ~ 1,280 (;. Ti ~ -« ~ -l I 25%"{ifl'q'~. in ~ ~ ~
•m.q~"~ ?

(A) 2,000 (l. (B) 2,200 (;.

(C) 2,400 (;. (D). 2,500"6".
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A man mixed 26 kg. of rice. at Rs. 20 per kg. with 30 kg. of rice of'other

variety at Rs. 36 per kg. and sold the mixture a.t.Rs. 30 per kg. What

is the percentage profit or loss to him in this transaction ?

(A) No profit, no loss (B) 5% Loss

(C) 5% Profit (D) 8% Profit

r ~ ~~ 20 Q. ~ m-r. qft' -a:t '~ m ~~5(ijJ~,.~, 36 Q. m
%m. c6t -a:t ~ ~ 30 fc6m. ~ t "IDfl fBt'IIlc6( f4-9rvT?6t 30 Q. m
ftnm. cCr -a:t ~ ~~, l~,~ ~q;) qm ~~Tff ~ tIT,m:rt ?

(B) '5% m

(C) 5% \TI1ll (D) 8% \TI1ll

.A manbought rsome oranges at, Rs. 10 per ciqzen,@4pought the same

~number, of oranges at Rs. 8 per dozen. He sold these oranges at Rs. 11
. I

per dozen and gained Rs. 120. How many oranges did he buy? .

(A) 30 dozens (B) 40 dozens

(C) 50 dozens (D). 60 dozens

~ati~ ~··'J'S'~'.10 Q.. ~ '~ 0"f;IT .~ 'fr'~8 Q. m m
'~' I~~'~ ~ 11 ~:.~~' ~ 120 Q. ~,\TI1ll ~ I

~~,~"~'~ ?r
(A) 30 ~ .. ' (B) 40~'

(C) 50~ (D) 60 ~



, .,. t

63 .The number of bricks, each measuring .24 em x 12 cm x 8 ern, required to
construct a wall 24 m long, 8 m high and 60 cm thick, while the mortar
occupies 10% of the volume of the wall, is :

(A) 44,000

(C) 50,000

(B) 45,000

(D) 60,000

24 "41. ~, 8 1ft. ~ "ff~ 60 ~. ~ ~ ~ IIm ~
24Wfr. x 12 Wfr. x 8 ~. llfq" cir ~ cir ~. ~mfr tftcm" t-
~ C5T '10% ~ ~, ~ :

(A) 44,000

(C) 50,000 ~

(B) 45,000

(D) 60,000

Spherical bullets are made our of a lead cylinder 28 em high and with'
base radius 6 em. If the diameter of each bullet is 1.5 em, then the number
of bullets made, is :

(A) 1,792

(C) 1,800

(B) '1,692

(D) 2,000

~ t- ·eR 28 -e-4T. ~ "ff"Tr 6 -e-4T. ~r qffi. ~ q,lfqE4t'1jtb{ ~

~ ~ ~ I ~ ~ 1ffiift C5T -a:rR{ 1.5 -e-4T. ~, tIT ~ ~ ~
cir~~

(A) 1,792.

(C) 1.,800

.(B) 1,692

(D) 2,000

A cone and a sphere have equal radii and equal volumes. The ratio of
the diameter. of the sphere to the height of the cone is :

(A) 1: 3

(C) 1: 2

(B) 2: 3

(D) 3: 4
.•

~ ~~'"ff"Tr ~ ~ cir EfUU ~ "ff"Tr ~ ~~. I ~ C5T -a:rR{

."ff~ ~~ c6r ~ C5T ~ ~ •

(A) 1: 3

(C) 1: 2

. (B) 2: 3

(D) 3: 4
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66 123456-79x72 =

(A) 88888888

(e) 898989898

12345679 x 72=

(A) 88888888

(e) 898989898

67 {(476+424)2_4>(476X424}=

(A) 2906

(e) 2704

.:

{(476 + 424)2 -4X476X424} =.r
(A) 2906

(e) 2704

, "

(B) 888888888 ..

. (D) 9999999998

(B) 888888888
• I·

(D) 9999999998

(B) 3116

(D) 2904

(B) 3116

(D) 2904
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753 x753+ 247x247 ":753x247, =
753 x 753 x 753 + 247 x 247 x 247

1
(A) 1000

253
(C) 500

753x753+247 x247 -753x'247 =
753 x 753 x 753 + 247 x 247 x'247

1
(A) , 1000

253
(C) 500

1
(B) 506

500
(D) 253

1
(B) 506

(D)
500
253

. A number when divided successively by 4 and 5 leaves remainders 1 and
4 respectively. When it is successively divided by 5 and 4, then the

respective remainders will be :

(A) 1, 2

(C) 3, 2
\

,(B), 2, 3'

(D) 4, 1

"

~'~q;)tbqttlcl ~ ~. 4 "ffm 5 ~ \lTTT' ~" tr\",~$6Tf~1: 1 "ffe:r(

4 1JNf ~·ll ~ ~. -m- tfi1 rsq"'d ~ ,t)' 5 ~,.~ ~. 'q"pT ~ 'ffi

~~ 'fbll~T: Wi

(A) 1, 2 .

(C) 3, 2

(B) 2, 3

(D) 4, 1
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(A) 7 (B) 6

70 How many of the following numbers are divisible by 132 ?

264, 396, 462, 792, 968; 2178, 5184, 6336

(C) 5 (D) 4

264, 396, 462, '792, 96~, 2178, 5184, 6336

.. (A) 7 (B) 6

(C) 5· (D) 4

71 In dividing a number by 585, a student divided the number successively
by 5, 9 and 13 and got the remainders 4; 8, 12 respectively: If he had
divided the number by 585, the remainder would have been :

(A) 24 (B) -144

(C) 584 (D) 292·

r ~ ~"lM'T'S85 .-Q' .:'Wr ~ t .~~ tmT ~. ~.~ •••I.ld WI''« ~~T:
5, 9, 13 ..,«i,mq .~ tilll ~ R)lJ~T: 4, 8, 12 .~~ I ~ ~ iro'
~ qiT•. 585 '« 'WT' ~ (f) ~~ ~ ·mor

(A) 24 (B) 144

(C) 584 . (D) 292
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/72 . If 1.125xlOk =0.001125, then the value of k is :

(A) -4
-

(B) -3

.(C) '-2 (0) -1

~ 1.125xl0k = 0.001125 m, 0) k Cf)l lJR· ~

(A), -4 (B) -3

(C) -+' (0)-1

73 If ---2-=0.16134, then what will be the value of 1 ?J .6:198 . 0.0006198

(A) 1613.4 (B) 0.01613.4

(C) 0.16134 (D) 16134

~ -._1_=0.16134 m, 0) 1 Cf)llJR ~}~T{r ?
6.198 0.0006198

..

(A) 1613.4 (B) 0.016134.

. (C) 0.16134 (D) 16134
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.> - -. 336-2.05+ 1.33=.

(A) 2.91 (B) 2.94

- (D)(C) 2.91 2.94 " ..

336-2.05+133=

(A) 2.91 (B) '2.94

(C) 2.91 . (D) 2.94

75 The value of {'.8(3.7~)3+1} is :
. (7.5) -6.5

(A) 2,75 (B) 4.75

(C) 8.5'
9

(D) 5

(A) 2.75 (B) 4.75

(C) 8.5
9

(D). 5
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(Please use Black ball-point Pen) ('fVIIT Black ball.•point V;r ifiTm i#'if)

INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

lfrn it; iffl'{ ~ ~
f.rl~1

1 Method of M1IJ'kingAnsnrs : 1 ~ ~ ifiT "6fIcm:.
To answer a 'question, please darken . ~.~ t ftinl· -3fu~ ',-3lR. ~ ~ftG
one bubble out of the given four, in 1f' ..~Q'ff lJ~';:f·t ~ ~ lfQ- m
. the OMR Answer Sheet against thn· "'*'1 .q ~. ~ ~ ~. q;) l[U C6l'ffi
question. ~ I

Valuation Procedure: ~ !Mk:•••~ :
There are four altemative-aaswe__ ~ .•. lJ~'it t:rrt -«~_"~ ~,'~ .
question, only one of them is correct. ~, ...~ ~ 00 t I ~ .• "'~
.One mark willbeawar.ct-ftm.'~ ~ m ~~.~...•••_~.
correct answer, if more thanone bubble
are darkened for a.question, it wim'be ~ ~.~ '.1'fli ~. ~. _t _f.
presumed that the candidate does not ~ llAT ~ fct;-qfrlffftff ~ ~~'iCfiT
know the correct answer henceno mark mT ~. ~ ~ t .~ ~ ~
shall be awarded. ~ ~ .•.~ ~ I .

Canc~lation or Chppge inAnswer: 3 ~ err ~ ~ lU ~ -:
It will not be possible to change the \ffi1: ~ <:Jf,f-rm ~ t. ~ ~
marked bubble with black ball-point ~ ~ -«. ~. ~ ~ t f;r~Wf cat
pen; therefore, correct answer should ~ -«ircf ~ m I &Cf: \ffi1: CfiT
be carefully chosen before marking it 1ffi;rr m't ~mT ~~'i ~ CfiT~
on OM~ AnswerSheet.-' mcr~I41'{4Cf) ~ I
Handing over ofOMRAnswer Sheet 4 ail.~.~._~ ~fu:cff~CfiTmorr : •
to Invigilator : ~.~.' (i) cft~ q;) \ffi1: ~fR; ~. t ~
(i) .Ple~~.ensutetbat all entries in the ~1lffl "CfR.~ fct;.\ftf\ ~fR; t

a~'Yer~eet are filled up properlym-nW~ ~1fT"•.~ ~ - "WT,
i.e. Natfie, Roll ND., Signatures, "fu;f ~, ~~, :g~'i-~ CfiT
Question Booklet No. etc:~"-. ~, ~ f;r~ WR 'tf{ <ftq;--

(ii). CANDIDATESARE PERMITTED <ftq;- 1lt ~. ~.l
TO, CARRY AWAY THE
QUESTION BOOKLET WITH (ii) -qfr~ .\W\RT w~tff q;) lJ~'i
THEM AFTER THE . .~.~ m~~ ~ ~ ~
EXAMINATION. ~l .

Care in Handling the OMR Answer 5 a1T.~.am.~ ~fu:~ ~ if {1lctQI41:
Sheet: . . , \ffi1: ~ftc:CfiTm.~~ ~ ~
While using answer sheet adequate care -« ~m-fi ~ I '~.' ~, ~. <:IT
should be taken not to tear .or spoil m;rcrc: ~ .~ ~ !=f m~~ ~
.due to folds or wrinkles and the ~ ~ ~ Tffiirr· C6roIl ~ ~ mcrm4T
impression does not come behind the ~ ct>t frf>'~. t914iCb1 ~ ~fR; t
Answer Sheet. ~ 'qTTf '1f ..,-t( ~

2

3

4

5
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